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Two Hours)

This paper is divided into two sections. Attempt all questions from Section A and any four from Section B. The intended marks for questions or parts of questions are given in brackets [].


SECTION A (40 Marks)

Question 1

A. Define operators. State one function of operators.

B. What is meant by inheritance? Give an example.

C. What is data type? Give an example.

D. Name any two packages of java that contain Library classes.

E. Mention any two attributes required for class declaration.

Question 2

A. Explain the function of the following with its syntax and an example :

a. If – else

b. Switch statement

B. Differentiate between isUpperCase() and toUpperCase() function.

C. Give any 2 advantages of Exception handling. What is a “fall through” situation in switch case statement.

D. Write a program that will calculate the factorials of any 25 random numbers.

Question 3

A. Correct the errors in the following lines (if any)

a. Short s = 234;

b. Byte b = 128;

c. char c = 78;

d.  float f = 1.234567887890;

e. byte e = 0;

B. What will be the output of the following codes:-

               x is a positive integer

                  void fun( int x )



{




while(x > 0)




{




   x/=10;




   System.out.println(“x will be=”+x);




}



}


Question 4

A. What is a compound statement? Give an example.

B. State the difference between constructor and method.

C. State the difference between pass by value and pass by reference.

D. Which element is num[9] of the array num ?

E. Mention two different styles of expressing a comment in a program.


SECTION B ( 60 MARKS )

Attempt any four

Question 5

Create class Sortsearch where the data members and methods are as follows:-

Instance variables


:
int arr[10] , no

Methods:

void accept()



:
Accept 10 numbers from the user.

void sort()



:
Sort the numbers in ascending order either 

using bubble sort logic or selection sort 

logic .(Mention the name of the logic)


Question 6

A. Accept a sentence and return the numbers of vowels present in the sentence. Apart 

      from returning you should also print the no. of vowels in the function itself.

B. A function which will accept a string and print out the text with the uppercase and 

      lowercase letters reversed, but all other characters should remain same as before.                                                        

Example : Input    :    WelComE TO School

 
           Output  :    wELcOMe  to sCHOOL

Question 7

A. Write a program to input two strings consist of maximum 80 characters. Examine both the strings and remove all the common characters from both of these strings. Display the resultant string.

B. Write a function to suppress negative elements of an array to bottom without altering 

     the original sequence i.e. if array contains 5 , -4 , 3 , -2 , 6 , -11 , 12 , -8 , 9  

    Then the return array will be  :                   5 , 3 , 6, 12 , 9 , -4 , -2 ,  -11 ,  -8  


Question 8

A. What are input and output streams? What is the significance of DataOutputStream class.

B. Describe the various classes available for character oriented file operation.

C. A file contains a list of telephone numbers in the following form:

Arvin

7258031

Sachin

7259197

Karan

5119812

The names contain only one word and the telephone numbers are separated by white spaces. Write a program to read the file and display its contents in two columns.

Question 9

Write a program to maintain bank account using two files:

· Master ( Accno , ac-holder’s name , balance)

· Transaction ( Accno , transaction date , transtype , amt)

The transtype can either be ‘d’ for Deposit or ‘w’ for withdraw , amt stores the amount deposited or withdrawn. For each transaction the corresponding record in Master file should get updated.
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